2U8sururnke3Nky
wuydwiwghp Yupkint npnodwt dwuht

Cupwgulupgh swsughpp «F2ZUNL-Z4UUY-2019-51»

Unnnowyywhnipjutt twjpwpupnipju «Zhjuinnipiniiutbph Jkpwhuljdut b juwtupgbjdwut wqquyhtt §Enpn»
ywhunwlwb ny wpbnpuyhtt juquultpynipniup unnph tkpjuyugund £ hp juphputph hwdwp mbnbkuwjut uwpuquubkph
Atppphipdwt twuwwnwlny juquulbpyjuws «F2ZUNR-Z4UUY-2019-51» swsljugpny qudwb phpugulwupgh wpyniapnid
wuwydwbwghp Jupknt npnpdwt dwuhtt nknkjunynipniup’

Quuwhwwnnn hwdiwdnnnyh 2019 pduwlwph hnlunbdptph 24-h phy 10 npnodwdp hwunwnyt) Eu pipuguljupgh
ponp dwubwlhgubph Ynnuhg tkpuyugdws hwjnbph' hpwdbph wuwhwietbphtt hwdwywwnwuhwinipjut ghwhwndw
wpnmipubpp: Zwiwdjut nph’

Quithwpwdhi N: 1 Gidwb wpwplu £ hwinhuwinud® Unpuhunjwp junquituljng

Zpunftiph wwhwbgubpht | 2pwdtph wwhwgubkpht
Uwutaljgh minjuitimdp hunfurgguninurujuwtng shunfunyunnurhrating Uihuduwypunnuujuwimipyui
4z hugpinkp huynkp huwdlwnrmn tljuy i1
pugpnijent!
/hudwyunuuiubibnt /shundwyuinuujuwiibne
nhiypnud gl “X7/ nhiypnud gk “X”/
1 «MbEwnpnujub Znjnhug» UNC X - -
2 «tuJhp Znghwbthuyut X i )
Znyhwtbtu» U/2
3 «Upuku Qupupjut Fughljh» X i i
U/
Uwutwljhguknh Cuunpyws dwutulhg Uwutiuljgh wnwgwplyws ght
qpun gpwd nkntpnp Uuuturgh witrjutmudp /plnpyus vwubmlgh hwdwp bk “X?/ /wnwig UZ2/
1 «MbEwnpnujut Znjnhug» UNC X 46.667
«Ywyhp Znyhwithuywi
2 ZnJhwuttiu» U/2 60000
3 «Updktu Qupupjut Swughlph» 72 500
U/
Cunpdwsd dwubwlghtl npnobynt hwdwp Yhpungws swthwbhy hpubph wwhwbetbphtt hwdwyuinwujuwbing
hwjn, WJuqugniy guuyghtt wpwewny ukpjuyugpus dwutulghtt twjpwywnynipniy tnunt uljqpniip:
Quihwpwdh N: 2 Fudwt wowplw k hwiinhuwinud® Unph ninuypuly 2
Zpunjtph wwhwhgbkphtt | Zpunjbph wwhwigubkphu
Uuutuljgh wijwtmudp hunfurgunnurwbng shunfunyunnuhratng Uthufwuyyuwunuupiuting pjuic
4z huyinkp huynkp hudwrnun tlju i1
pugpniypent
/hudwyuinwuiuine /shundwyuinuujuwibng
nhupnud ok “X7/ nhupnud ok “X7/
1 «MbEwnpnuyul Znnhugr UNC X - -
2 «Upuku Qupupjui Fwughlh» X - -
3 «Yulhp Znghwtbhywub X - -
Uwutulhgukph Cunpyws dwubulhg Uwubmljgh mpwowpljwé ghtt
qpuntgpwd wnknkpp Uuuburligh witjwimup /pnpyud dwubwygh hwdwp oy “X7/ funutg UZZ/
1 «MbEwnpnuyul Zninhugr UNC X 135,833
2 «Unpdkt Qupupyui Fwughyh» U/2 X 180,000
3 «<YuJhp Zndhwbthuyw X 216,000

Chnpjws dwululghtt npnoknt hwdwp Yhpundws swhwihy  hpudbph wuwhwietbphtt hwdwywnwuhiwbng
hwyjn, vhul dwutuljhg:

Quithwpwdht N: 3 Fudwt wnwplw Ehwiinhuwinud® Udwi jJuyn hnnly



Zpunjtph wwhwhgubpht | Zpunjkph wywhwhghbkpht
Uuutiuljgh winjutmudp hunfurgunnunprotbng shunfunyunnumuhrubng Uthudwwyuwinuupiuting pjui
4z hupinkp huyinkp hudwpnun tlju i1
puugpnyypent
/hudwyuinwuiuitne /shundwyuwinuujuwibng
nhypnud gk “X7/ nhypnud gk X7/
1 «MbEwnpnuyub Zninhugs UNC X - -
2 «Upuku Qupupjui Fmughlh» X - -
3 «Eyndnpd» UNLC X - -
Uuhuhhgtph Cunpjud dwubwlhg Uwutwljgh wnwewplwsé ghtu
qpun igpwd nknkpp Uulnulgh wifuwitmulp /punpus dwubwlgh hwdwp ok X7/ /wnwg UZz2/
1 «MEwnpnuywb Znjghtgy UNC X 91,667
2 «Unpukt Qupupjut Fughljh» U/2 145,000
3 «Eyndnpd» UL 264,000
Chwnpws dwubwlghtt npnobint hwdwp Yhpundws swhwihy hpudbph wwhwigbbpht hudwywinwupiwbing
huyun, Jhul] dwutiwlhg:
Quhwpmdhii N: 4 Gudwb wpwplu £ hwiinhuwiinud® Uwywlh dwppnn htnnily 2
Zpunjtiph wwhwbgubpht | 2puftph wuwhwgubkpht
Uwutaljgh minjuitimdp hunfurguninurujuwtng shunfunyunnurhrating Uihuduwypunnuujuwimipyui
4z hugpinkp huynkp huwdlwnrmn tljuy i1
pugpnijent!
/huduyuinuuiwbbint /shundwyuinuujuwibng
nhupnud ok “X7/ nhupnud ok “X7/
1 «Unpdkt Qupupjui Fwghlh» X i i
U/
2Z Yunuwjwpnipjui
9 04.05.2017 . N 526-1 npnpdwia
«Eyndnpd» UNC - X 47-pn Yknh wwhwbeubpht
hudwyuwwnwupwb snlnid sh
ubpuyugyty:
Uwutwljhguknh Cuunpyws dwutulhg Uwubiwuljgh wnwowplyws ght
qpuntgpwd wkntpp Uunubiurligh witumup /plinpyus vwubwygh hwidwp toby “X?/ /wnwiig UZ2/
1 «Eyndnpd» UNC - 65,000
2 «Upuku Qupupjui Fwughlh» X 93,750

Chnpjws dwubwlghtt npnoknt hwdwp Yhpungws suhwbhy hpudbph wuwhwbetbphtt hwdwyuinwumbng  huyn,
wjuqugny quughtt wnwewpl ukpjuyugpus dwubwlghtt twhwywwnynipint mwnt uljqpnip:

Qunpwpwdhi N: 5 Fudwt wnwplw k hwiinhuwinud® Q@mqupuih poinp 3
Z2puftiph wwhwhgubkpht | Zpunbph wwhwugubkphu
Uuutuljgh wijwtmudp hunfurgunnuurwlng shunfunyunnunhrutng Uthuwuyyuwnuupiuting pjuic
4z huyinkp huynkp hunlwenn tlju i1
ugpnijpnt
/hudwyyuinwuiubne /shundwyuinuujuwibng
nhiypnud gk “X*/ nhiupnud ok “X”/
1 «Oyuoht» UNC X - -
2 «Upuku Qupupjui Fwghyh» X i )
U/
3 «MbEwnpnuyulb Zninhugs UNC X - -
4 «Yuhp Zngyhwhthujw X ) )
znjhwttbu» U/Q
5 UndE NUMrCORU» UL X - -
Uwutwlhgukph Cunpyws dwubulhg Uuubwljgh wnwgwpljws ght
qpumbgpmd wknkpp Uululgh winjubnufp /ptnpws Cwutulgh hundup ok “X7/ fumwbg U2/

1 «Owyunoh» UNC X 958,300

2 «Upuku Qupupyui Fwghlh» U/2 970,000

3 «NEwnpnujuh Znjnhig» UNC 1,125,000

«Yuyhp Znghwuthuywub
4 Znyhwtiku» U/2 1,300,000




| 5 | «@wnde aunpcopus U | 1,416,666.67
Ctunpyud dwubwlghlt npnolnt hwdwp Ghpunjws sunhwihy hpwybph wwhwiebpht hwlwwwnwuwing  huypn,

ujuqugny quwghtt wnwewply kpuyugpus vwubwlght hwpiwwywnynipinit muynt uljqpntip:

Quhwpwdhi N: 6 Gudwb wpwplu £ hwiinhuwinud® HEjupulwi judy 7

Z2puftiph wwhwhgubkpht | Zpwbph wwhwigubkphu
Uuutiuljgh wijwtmudp honfuragunnurutmng D | Unhudwwwinwupubn pjui
2z huynkp huyintp
hudwenn tjupugpnypnch
/huduyunuuiuttbne /shudwyuinuujuwiibne
nhypnud gk “X7/ nhiypnud gk “X”/
1 «MbEwnpnuyub Zninhug UNC X - -
2 «Unpukt Qupupyut Fwughljh» X i )
u/2
3 <YuJhp Znghwbthuywh X i i
ZnJhwittu U/2
Uwtiwljhgubph Cuwnpjud dwutuljhg Uwutiuljgh wnwgwplus ghte
qpunkgpwd nknkpp Uuiulgh winjuibnufp /pnpud dwubwygh hudwp ok “X?/ /unwug U2/

1 «MbEwnpnujut Znjinhug» UNC X 20,833

2 «Upukl Qupupyui Fwghljh» U/2 27,000

3 «tuJhp Znghwbthuywut 28.800

znjhwtubu» U/Q

Ctunpyus dwubwlghtt npnolynt hwdwp Ghpunjws sunhwihy hpwybph wwhwiebbphtt hwlwwwnwujwing  hupn,
juqugny quughtt wnwewply ukpjuyugpus vwubhwljghtt iwpwywwnynipntt muynt uljqpniip:

Qunhwpwudh N: 7 Qudwl wnwpluw | hwinhuwinud® Timuhubughinuygh ghplljught jundy 1
Z2puftiph wwhwhgubkpht | Zpunbph wwhwlgubkphu
Uity hudwyunuwuowinn shudwyunwujuwing
gh wiuitmudp Uthufwuyunuupiuting pjuic
2/2 huyntp huyntp hunfumnu tljur
pugpnypnth
/hudwyuinwuiwbnt /shundwyuinuujuwiibne
nhypnud gk X7/ nhupnud tply “X”/

1 «RULURU» UL X - -

2 «MbEwnpnuywut Znjinhugr UNC X - -

3 «Upuku Qupupjui Fughlh» X , i

4 «<YuJhp Zndhwbthuywb X i i

ZnJhwuttiu» U/2
Uwubwlhgukph Cunpyws dwutiuljhg Uwutiuljgh wnwgwplywd ght
qpuntgpwd wkntpp Uululigh winjwbnufp /pnpyud dwubwygh hwdwp ok “X7/ /unwtg UZ2/

1 «RULURU» UNC X 62,500

2 «MEnpnuyub Znjhug» UNC 72,500

3 «Unpukt Qupupjut @wughljh» U/2 87,500

«Yuyhpe Znyhwtthuywi

4 znJhwuttu» U/Q 112,500

Cownpyuwd dwubwlghlt npnolnt hwdwp Yhpunws swihwihy hpwybph wwhwietbpht hwlwwwnwupwing  hupn,
ujuqugny quuyhtt wnwewpl ukpjuyugpus dwubwlghtt twhwywwnynieinit muynt uljqpniip

Qunhwpwdhi N: 8§ Fudwt wnwplw Ehwinhuwinmd® dundbh uyhpn
Zpunjtiph wwhwhgukpht | Zpunbph wwhwigukphu
23 Uuutuljgh wijubmuip hunfurjunmuurminn shunfurugunmomihoaton Uthwdwuyunwuiwbn pjui
huyynkp huyjinkp hwiwpnwn tjuwpugpnypath
/huduyunwuiwibne /shundwyuinuujuwiibng
liypnud tipky “X”/ nliypnud bipky “X”/
1 «Yuhpe Zngyhwhthujw X ) )
znjhwttbu» U/Q
2 «MbEwnpnuyut Zninhugs UNC - -
3 «Upuku Qupupjui Fwughlh» ) i
U/




Uwubwlhgukph Cunpjwé dwubulhg Uuubwljgh wnwgwpljws ght
q_[!lllllhgpulb u’lhllhp]'_l Umuhmllgh uﬂn[uﬂmuf]} /nunpjus dwubwlgh hwdwp oty “X”/ /umulhg uzz/
«Yuyhp Znghwuthuywub
1 X 90,000
Znyhwbu» U/
2 «NkEwnpnuywt Zojnhug» UNC 100,000
3 «Unpukt Qupupyut Fwughlh» U/2 130,000

Ctunpyud dwubwlghlt npnolnt hwdwp Ghpunjws sunhwihy hpwybph wwhwiebpht hwlwwwnwupwing  hupn,
ujuqugnyt quwghtt wpwewpl ukpjuyugpus dwubtuljghtt hwppwywnynipini tnwnt uljqpnip

2Qunhwpwudht N: 9 Sudwt wowplw E hwiinhuwinud® Tup 1
Zpubph wwhwigtkpht | Zpunbph wuwhwhghkpht
Unnutuljgh winjmimudp honfuragunnurutbmng shunfunyunnuuhnutng Unhuwuyunnuruhmtnt pjui
. huynkp huinkp hunfwrnn tljupugpnpnih
/hudwyyuinwuiwbnu /shundwyuinuujuwn
nhypnud gk “X”/ nhypnud ok “X”/
1 «MbEwnpnuyub Znnhug UNC X - -
2 «Unpukt Qupupyut Fwughljh» X - -
3 «Ouupht» UNL X - -
4 «<rudhp Znghwbthuyjut X - -
e I S PRt v T o
1 «MEnpnuyub Znjhug» UNC X 70,000
2 «Unpukt Qupupjut @wughljh» U/2 85,000
3 «Ouyunpht» UNLC 150,000
«tw ZnJhwithuyywt
4 lellllllliulh%hu» U.I;(Q] 190,000
Chwnplws dwubulghtt npnokynt hwdwp Ghpunjws suhwihy hpudbph wuwhwbetbphlt hwdwuywinwuimbng
huyun, vhul] dwutiwlhg:
Qunpwpwdhin N: 10 Fudwh wnwplju £ hwiinhuwind® Twp 2
Z2puftiph wwhwhgubkpht | Zpubph wwhwugubkphu
Uuutuljgh widuimudp hunfuwngunmnhuwbng shunfurajunnumnthratinn Uhhwdwuyunnwujuwbn pjui
42 huyynkp huyinkp hwiwpnn tjupugpnypath
/huduyunwuiwine /shudwyuinwujuwtiing
nhiypnud gk “X*/ nhiwpnud gk “X”/
«MEwnpnuywt Znjnhugy UNC X - -
2 «Oyuoh» UNC X - -
3 Upuktu Qupupjut Fughlh» X - -
4 <Yudhp Zndhwbthuyw X . )
znjhwttbu» U/Q
e e S PR e O v
1 «MbEwnpnuyub Znjnhug» UNC X 37,500
2 «Ouyunoht» UNC 49,000
3 Upukl Qupupyut Fughlh» U/Q 56,000
«tw ZnJhwtthuyyut
4 lel{llllalulh%hu» UI;Q] 70,000

Cownpyud dwubwlghlt npnolnt hwdwp Yhpunqws swihwihy  hpwybph wwhwietbphtt hwlwwywnwupwing  hupn,
ujuqugny quughtt wnwewpl ukpjuyugpus dwubwlghtt twhwywwnynieinit muynt uljqpniip

Quithwpwdhb N: 11 Ghdwt wpwplw k hwinhuwinid® Ljwgph thnoh 6

Zpuftiph wwhwhgbkpht | Zpunbph wwhwlgubkphtu
Uunutuljgh wijuimulp hunfurjunmuurminn shunfurugunmomihoaton Uhwiwuyunnwuiwbn pjui
44 huyynkp huyjinkp hwiwpnwn tjuwpugpnypath
/huduyunwuiwibne /shundwyuinuujuwiibng
nhypnud gk “X”/ nhuypnud gk “X”/
1 «Nwnpnujub Znjnhug» UNC X - -




Upuku Qupupjut Fughljh»

2 /2 X ' '
Uwutuyhgutph Cunpjud dwubiulhg Uwutiuljgh wnwewplwsé ghtu
qpungpwd nknkpp Uuutulgh wihjuiinufp /punplud vwubwygh hudwp ok “X7/ funwtg UZ2/
1 «NkEnpnuywt Znjphug» UNC X 80,750
2 Unpukt Qupuipjutt Fughljh» U/Q 96,000
Chwnpws dwubwlghlt npnobint hwdwp Yhpundws swhwihy hpudbph wwhwigbbpht hudwwywinwupiwbng
huwyun, vhul] dwutiwlhg:
2Qunhwpwdhi N: 12 Gudwl wpwplu k hwinhuwinud® Zknnily odun
Zpubph wwhwigtkpht | Zpunbph wuwhwhghkpht
Uuutiuljgh wijwtmdp honfuragunnurutbmng shunfunyunnuuhnutng Unhudwwwuinwuputn pjui
ne huzynkp huyinkp hunfwrnn tljur i1
uiqpnpnL
/hudwyyuinwuiwbnu /shudwyuinuujuwibng
nhypnud gk “X”/ nhypnud ok “X”/
1 «MbEwnpnuywb Zninhug UNC X - -
2 Upuktu Qupupjut Fughlh» X - -
3 «Eyndnpl» UNC X - -
Uwutwljhguknh Cuwnpyws duuiulhg Uwutiuljgh wnwgwplyws ght
qpungpwd nkntpnp Uutuligh winjwtnufp /pnpyud dwubwygh hwdwp oy “X7/ /unwtg UZ2/
1 «MbEwnpnujut Znjinhug» UNC X 98,333
2 Upuku Qupupjutt Fughljh» U/ 124,200
3 «Eyndnpd» UL 153,000
Ciwnpus dwubwlghlt npnolimt hwdwp Yhpundws swhwihy hpudbph wwhwigbtphtt hudwywinwupiwbng
hwjn, vhul dwutwljhg:
Qunhwpwdh N: 13 Fudwl wrwplu k hwinhuwinud® Qnting minbuwljwh 1
Zpunjtph wwhwhgkphtt | Zpunjbph wwhwigtbkphtu
Uuutuljgh wijwtmudp hunfurgunnuurwlng shunfunyunnunhrutng Uthufwuyyuwunuupiuting pjuic
4z hutyinkp huyyinkp hunlwenn tlju i}
uqpnijpnt
/hudwyyuinwuiwibne /shundwyuinuujuwibng
nhuypnud ok “X7/ nhupnud ok “X7/
1 «MbEwnpnuyub Zninhug UNC X - -
2 Upuktu Qupupjut Fughlh» X - -
Uwtiljhgutph Cunpjud dwutiuljhg Uwutiuljgh wnwgwplusé ght
qpunbgpwd nknbpp Uuiulgh winuitnufp /pnpyud dwubwygh hwdwp oy “X7/ funutig UZZ/
1 «Nkwnpnuywt Zojnhug UNC X 97,333
2 Uputu Qupupyul Fughyh» U/Q 128,000
Cuinpdwsd dwubwlght npnokynt hwdwp Yhpunjws swthwbhy hpubph wwhwbetbphtt hwdwyuinwujuwbing
hwjn, thul dwutwljhg:
Qunpwpwdh N: 14 Gudwl wnwplw | hwinhuwinud® Uwppnn dhong 6
Zpunftph wwhwhgubpht | Zpunfkph wywhwhgbbkpht
Uuutiuljgh winjwtmdp hunfurgunnunprobng shunfunyunnumuhnuing Uthudwwywinuuputing pjui
4z huyuntp huynkp o
wdwpnn djuwpugpnypath
/huduyunwuiwine /shundwyuwinuujuwiibne
nliypnud tipky “X”/ lypnud biply “X”/
22 Yunwwpnipjui 04.05.2017
1 P- N 526-u npnodwt 47-pn Yhnp
«Eyndnpd» UNC - X wuwhwletbpht
hudwywwnwupiwb snlnid sh
ubpYuyugyty:
2 «MEwnpnuyub Znjnhug UNC X -
3 Unpuku Qupupjui Fughlyh» X -
Uwubwlhgukph Cunpjwé dwubulhg Uuubwljgh wnwgwpljws ght
qprunkgpwd inknkpp Uunituugh wijwbonfp /nunpjus dwubwlgh hwdwp oy “X*/ /unwg U2/




1 «Eyndnpi> UNC 113,333.33
2 «NkEwnpnuywt Zojnhug» UNC X 300,000
3 Updtu Qupupyui Fughyh» U/2 360,000

Chwnplws dwubmlghtt npnobnt hwdwp Ghpunjws suhwihy hpundbph wuhwietbpht hwdwwywinwupuwbng
hwjn, vhul vwutwulhg:

Quthwpwdhi N: 15 Fudwl wnwplw k hwinhuwinud® Uwppnn dhong 8

Z2puftiph wwhwhgubkpht | Zpwbph wwhwigubkphu
Unnutuljgh winjmimudp e | shunfuraunnurarning Unhuwuyunnuruhmbnieyui
. huynkp huinkp hunfwrnn tljupugpnypnih
/hudwyyuinwuiwbnu /shundwyuwinuujuwibng
nhypnud ok “X”/ nhypnud ok “X”/
22 Yunwwpnipjui 04.05.2017
1 P- N 526-u npnodwit 47-pn Yhnp
«Eyndnpl» UNC - X wuwhwbigtbnht
hudwywwnwupwb snlnid sh
ukpluyugyky:
9 Upuktu Qupupjut Fughlh» X
U/2 ]
Uwtiljhgutph Cunpws dwubiwlhg Unniirligh wnwewpljus ghtt
qpun[hgpulb Ulhllh]l]} Uuluhulllgll ulin[uﬂmuf]} /nunpjus dwubwlgh hwdwp oty “X”/ /u].nulhg u2z/
1 «Ellnfl)nl'ld» uar 105,000
2 Upuku Qupupjutt Fughljh» U/ X 130,000

Chnplws dwubuyghtt npnolynt hwdwp Ghpunjws suhwihy hpudbph wuwhwietbphtt hwdwywnwuumbng
huwyun, vhul] dwutiwlhg:




Quthwpwmdhi N: 16 Fudwh wpwplu £ hwinhuwinid® Uwppnn vhong

Zpunftiph wwhwhgukpht | Zpunbkph wwhwigukphia
Uuubujgh wijwimudp hunfurqunmuhrimn shunfurupummomipraton Uthudwyunuwupiwbinipjui
4z huyntp huynkp ot
wlwenn Gjupugpnypalh
/hudwyuinwuiuitne /shundwyuinuujuwibng
nhypnud gk “X7/ nhypnud gk “X7/
1 Upuktu Qupupjut Fughlh» X ) .
U/
Uwutiwlhgubph Cuwnpjwé dwubulhg Uwutwljgh wnwewplwsé ghtu
q_pulIlhgpulB mhth]} Umuhmllgh ulilllulimuf]} /punpyus dwubiwljgh hwdwp gk “X7/ /umulhg U22/
1 Uputl Qupupyut Fughyh» U/Q X 56,250
Chwnplws dwubmyghtt npnolnt hwdwp Ghpunjws suhwihy hpundbph wuhwietbphlt hwdwuywnwuimbng
hwjn, vhul vwutwuljhg:
Quhwpwdhi N: 17 Gudwt wnwplju E hwinhuwtinid® Gnp hwwnwljh
Zpunjtiph wwhwbgubpht | 2puftph wuwhwgubkpht
22 Uwutulgh wijwtmdp B | D | Uthudwyunuujuw b pyui
huynkp huyinkp hwdwpnn Wwpwqpnypeni
/hudwyunuuiuibnt /shundwyuinuujuwiibne
nhiypnud gl “X”/ nhiypnud ik “X”/
1 «MbEwnpnuyub Znjinhug» UNC X - -
2 Uputl Qupupyut Fughyh» U/Q X - -
3 «tuJhp Znghwbthuywut X i )
znJhwtubtu» U/Q
Uwubwlhgukph Chunpjus dwutwlhg Uwutiwljgh wnwgwplywd ght
qpungpwd nkntpnp Uuuturgh witrjutmudp /plnpyus dvwubwlgh hwdwp bk “X?/ /wnwig UZ2/
1 «MbEwnpnuywut Zninhugr UNC X 325,000
9 Upuku .Qmplg/lguh Quqhlp» 495,000
<Yudhp Znghwbthuyw
3 Znghwutbiu» U/2 525,000

Chnpjws dwubmlghtt npnoknt hwdwp Yhpungws suhwbhy hpudbph wuwhwbetbphtt hwdwyuwinwumbng  huyn,
wjuqugnytt guughtt wpwewpl ukpjuyugpus dwubuljghtt itwppwywnynipni tnwnt uljqpniip:

Qunhwpwudhi N: 18 Gudwit wnwpluw E hwiinhuwinud® Uynihg 2

Zpunjiph wwhwbgbbpht | Zpunftph wuhwhgbpht
22 Uuntulgh wijuimdp hunfurjunnuujuwtng shunfunyunnunhrutng Unhwdwuyjunwujuwimi pjut
huiynkp huyinkp huwdwrnn tjupuqpnypni
/huduyuinuuiwbbint /shundwyuinuujuwibng
nhypnud ok “X7/ nhupnud ok “X7/
1 Upuku Qupupjut Fughljh» U/ X - -
Uwtiljhgutph Cunpjud dwubuljhg Uwuiwulgh wnwgwplus ghtt
qpunbgpwd nknbpp Uunituligh winjubnudp /punpyws dwubwlgh hudwp ok X7/ /wnwig UZZ/
1 Upuku Qmpu[-llI/l]Qulh Qughlh» X 40,000

Cownpyuwd dwubwlghlt npnolnt hwdwp Yhpunqws swihwihy hpwybph wwhwietbpht hwlwwwnwupwing  huyn,
uwjuqugny quughtt wnwewply ukpuyugpus dwubwlghtt hwpiwywnygnipeinit imunt uljqpntip:

Quihwpwdh N: 19 Qudwt wnwplu | hwiinhuwinud’ Uynihq dbnwunuljui ywpnypngd

Zpunjiph wwhwbgbbpht | Zpunftph wuwhwhgbpht
23 Uuubulgh winjubmdp hunfmjunmuouwbng shunfurugunmomihoaton Uhwdwuyjunnwujuwimi pjut
huiynkp huyjinkp hwdwpnn ijwpuqpnypeni
/hudwyunuupiwibnt /shudwyuinuujuwibne
iy pnud tipky “X*/ liypnud biply “X”/
1 «MbEwnpnuyub Znjphug» UNC X - -
2 Uputu Qupupyui Fughyh» U/2 X - -
Uuniuhhgukph Cinpyws dwulnulhg Uwubwlgh wnwgwplus ght
q_[!lllllhgpulb u’lhllhp]'_l Umuilulllgll uﬁn]_ulimu[]} /pnpdus dwubiwlgh hwdwp bty “X*/ i umulhg uzz/
1 «MbEwnpnuyub Zninhug UNC X 66,000




Unputu Qupupjui Fughlyh»
U/

75,600

Cunpdué Uwutwlghtt npnpbint hwdwp Yhpwodus swhwihy hpudbph wwhwbghbpht hwdwyuwnwupiwing  hwjn,
ujuqugnyb quughtt wmnwewply ukpjuyugpws dwubwlghtt twhiwywwnynipinit mwnt uljqpniip:

Quthwpwdhii N: 20 Gudwit wnwplju £ hwiinhuwbinud® Gupkpudnplwi uljng

Zpunjtiph wwhwbgubpht | 2puftph wuwhwgubkpht
Uwutmiljgh minjutimup hunfuapumnuulutng shunfuraunnurahrning Uthurfumpunnuujum mieymb
224 hujnkp huyntp
hwdwrnn tjupugpnypnt
/hudwyunuuiuiibnt /shudwyuinuujuwiibing
nhiypnud tply “X7/ nhiypnud tipky “X”/
1 Upuku Qupupjut Fughlhh» W X - -
2 «Yuyhp Znghwuthuywb X i )
an}luﬁﬂﬂiu» U/
Uuntiuhhgukph Cunpjud dwubwlhg Uwutwljgh wnwewplwé ghtu
qpun igpwd nbknkpp Uunitiuligh winjutmudp /punpus dwubwlgh hwdwp ok X7/ /wnwtg UZz2/
1 Upuktu Qupupjub Fughlh» X 34,000
U/2
<Yudhp Znghwbthuyw
2 Znyhwhttu» U/2 60,000

Cunpjwd Uwutwlghtt npnplimt hwdwp Yhpwndus swhwihy  hpudbph wwhwbghbphtt hwdwyuwnwupiwing  hwgn,
ujuqugnyt guwghtt wpwewpl ukpuyugpus dwubuljghtt btwjupwyunynipini nwnt uljqpniip:

Qunpwpwdhii N: 21 Gidwl wpwplw k hwinhuwinud® Auinnpuljwib dkntng 1

Zpunftiph wwhwbgubpht | 2pwdtph wwhwgubkpht
Uwutaljgh minjuitimdp hunfurguninurujuwtng shunfunyunnurhrating Uihudwypunnuujuwinipyui
2z huyinkp huynkp
hudlwrnn tjupuqpnypnt
/huduyunuuiwbbint /shundwyuinuujuwibng
nhiypnud gl “X7/ nhiupnud gk “X”/
1 «MbEwnpnuyub Znjinhug» UNC X - -
2 Uputu Qupupyut Fughyh» U/Q X - -
Uwtiljhgutph Cunpwd Uwubwljhg Unniiurligh wnwgwplyus ghtt
qpuintgpuid nknkpp Uuubiutgh winjwtinulp /ptnnpyuws dwutligh hutwp ol X7/ Junurhg U22/
1 «MbEwnpnuyub Zninhug UNC X 30,000
q »
9 Upuku Qmpltlll;guh wghlh 37,250

Cunpwd dwutwlghti npnplimt hwdwp Yhpwndus swhwihy  hpudbph wwhwbghbphtt hwdwywnwupiwing  hwgn,
ujuqugnyb quught wnwewply ukpuyugpus dwubwlightt twhwywwnynipnit nuynt uljqpnip:

Quhwpwdhi N: 22 Qudwt wnwplw | hwinhuwinud' Zuwnwyh dnquihugn (9dupp

Zpunftiph wwhwbgubpht | 2pudtph wwhwigikpht
Uwutljgh mjuitinmdp hunfurgurinujuwbng shunfunyunnunthrutng Uihuduwypunnuujuwbnipyui
24z huyinkp huynkp
hudwrnn tjupuqpnypni
/hudwyuinuufiwbbint /shundwyuinuujuwibng
nhiypnud gl “X”/ nhiupnud gk “X”/
1 Uputu Qupupyui Fughyh» U/2 X - -
Uunitiuhhgkph Cinpywd dwulnulhg Uwutwlgh wnwgwplus ghte
q_[!lllllhgpulb u’lhl]h]l]’_l Umuhuﬂlgh mhllmhnu[ﬂ /pnpdus dwubiwlgh hwdwp bty “X*/ / umulhg uzz/
G
1 Uputu QmpuLlII/lguh wqhlh» X 17.000

Cunpwd dwubwlghtt npnplym hwdwp Yhpwndus swhwihy  hpudbph wwhwighbphtt hwdwywinwujuiwbng  hwgn,

juqugnyb quuyhtt wnwewply ukpuyugpws vwubwlghtt twhwwywnynipnit imuynt uljgpniip:

Qunhwpwdh N: 23 Qudwt wnwplu | hwinhuwind® nhwinguyht prpk upphs

Zpunjtiph wwhwbgbbpht | Zpunftph wuwhwhglbpht
2 Uwutulgh wjutimdp hunfumgunnujuwbng shunfunyunnumuhnubng Uthudwyunuujuwbn pyui
huyynkp huyinkp hwdwrnn tjupuqpnypnii
/huduyuinuufuwbbint /shundwyunuujuwibng
nhiypnud tply “X7/ nhypnud gk “X7/
1 «Und e nunbrNrU» Une X - -
2 «NEwnpnuyuh Znjnhig» UNC X - -




3 «Ouyunohtr UNC X - -
4 «Upuku Qupupjut Fughljh» X i ]
U/
5 «YuJhp Znghwbhuywb X i )
an}luﬁﬂﬂiu» U/2
Uuntiuhhgukph Cunpjwd dwubwlhg Uwutwljgh wnwewplwsé ghtu
qpun igpwd nknkpp Uunitiuligh winjutmudp /punpus dwubwlgh hwdwp bk “X7/ /wnwtg UZz2/
1 «UNd e NMU1brNkrU» UNC X 250,000
2 «MEwnpnuywb Znjnhtgy UNC 275,000
3 «Ouunpht» UNLC 333,000
4 «Upuku Qupupjui Fughlh» 340,000
U/ ’
«<rurdhp Znghwbthuyjwut

> Znyhwhbbu» U/2 450,000

Ctunpyud dwubwlghlt npnolnt hwdwp Ghpunjws sunhwihy hpwybph wwhwiebbphtt hwlwwwnwupwing  hupn,
uwjuqugny quughtt wnwewply ukpjuyugpus dwubwlghtt hwpiwwywnynipintt muynt uljqpniip:

Qunpwpwdhi N: 24 Qudwh wpwplju £ hwiinhuwtinid® unhwbnguh upphy

Zpunftiph wwhwbgubpht | 2pwdtph wwhwgubkpht
2 Uwutaljgh mijuitindp hml[mu}llzuﬁuhlmm 2hmdm§$?ﬂ‘;1uhlmm Uihudwypunnuujuwinipyui
/hmdmulmimullilmhhlm /Zhuldulululfnulullluulhhlm hunfwnnin Wywpugpaiypntl
nhiypnud gl “X7/ nhiupnud ok “X”/
1 unde 1u1brnkhU» une X - -
2 «Ouunoh» UNC X - -
3 «MbEwnpnuyub Znjinhug» UNC X - -
4 «Ywyhp Znyhwtthuywi X - -
5 «Unpdkl Qupupjut Fwghlh» X - -
apuntubign | Uttt | GRS | e
1 unde nunrrnkrU» une X 600,000
2 «Ouuht» UNL 705,000
3 «MEwnpnuyub Zninhug UNC 750,000
«tw znJhwuthuyjut
4 Z]ﬂllllllzulh%hu» UI/IQ] 900,000
5 «Upuku gmpﬁ}gﬂh Qughyh» 1,140,000

Cunpwd dwutwlghti npnplimt hwdwp Yhpwndus swhwihy  hpudbph wwhwbghbphtt hwdwywnwupiwing  hwgn,
wjuqugnyt guughtt wpwewpl ukpjuyugpus dwubuljghtt itwjupwywnynipnis tnwnt uljqpnip:

Quihwpwdhti N: 25 Qudwh wnwplu Ehwiinhuwinud’ Mnquiuly vuyuhunuljh

Zpunjiph wwhwbgbbpht | Zpunftph wuwhwhgbpht
23 Uuubulgh winjubmdp hunfmjunmuouwbng shunfurugunmomihoaton Uhwdwujunnwujuwim pjut
huzpnkp huyinkp hwdwrnn tjupuqpnypnti
/hudwyuinuuuubbint /shundwyuinuujuwibng
nhuypnud uoky “X7/ nhuypnud ok “X7/
1 «MbEwnpnuyub Znphug» UNC X - -
2 «Yuyhpe Znyhwtthuywi X ) )
znJhwutu» U/Q
3 «Upuku Qupupjut Fughljh» X i i
U/
Uwubwljhgiikph Cuunpjws dwutmlhg Uuubuljgh wnwowpljws ght
qpuingpud wknkpp Uuwuburigh wirjwimup /pbnpyus twutabgh hudup ok X/ /unuihg U22/




1 «MEwnpnujwt Znjnhtg» UNC X 29.500
«Yulhp Zndhwthupwb

2 znjhwttbu» U/Q 30,000

3 «Upuku Qmpﬁgmh Qughyh» 48000

Ctunpyud dwubwlghlt npnolnt hwdwp Ghpunjws sunhwihy hpwybph wwhwiebpht hwlwwwnwuwing  hupn,
ujuqugnyb quughtt wnwewply ukpjuyugpus vwubwlghtt twhiwwywwnynipnit muynt uljqpniip:

Quthwpwdhi N: 26  Qudwl wnwplw Ehwinhuwinid® Uuywhunnuljh inqutuajh thnfpaynng Yunp

Zpunjtiph wwhwbgubpht | 2puftph wuwhwgubkpht
22 Uwutmiljgh minjutimup hunfurapumnufutng shunfuraunnursfrning Uthurfumpunnuujum mieymb
hupnkp huyinkp hwdwrnn tjupugpnypnt
/hudwyuinuuiuibnt /shudwyuinuujuwiibine
nhiypnud tply “X7/ nhiypnud tipky “X”/
1 «NkEwnpnuywt Zojnhug» UNC X - -
2 «Yuyhp Znghwuthuywub X i )
znJhwuttu» U/Q
3 «Upuku Qupupjuit Fughljh» X i i
Uwtiljhgutph Cunpjwd twubuljhg Unniirligh wnwewpljus ghtt
qpunbkgpwd nknkpp Uunituligh winjubinuip /punpus dwutwlgh hwdwp bk X7/ /wnwig UZZ/
1 «MEwnpnuyub Zninhug UNC X 500,000
<Yudhp Znghwbthuyw
2 Znyhwhttu» U/2 >>0,000
3 «Upudku Qulpggmh Qughlh» 800,000

Ctunpyus dwubwlghlt npnolnt hwdwp Ghpunjws sunhwihy hpwybph wwhwiebbkpht hwlwwwnwujwing  hupn,
uwjuqugny quughtt wnwewply ukpjuyugpus dwubwlghtt hwpiwwywnynipintt muynt uljqpniip:

Qunhwpwdh N: 27 Qudwl wrwpluw k hwinhuwinud® Ywhnyp dwpphnt iymp

Zpunftph wwhwhgbkphtt | Zpunjbph wwhwigubkphu
Uuutuljgh widuimudp hunfuragunnuprutng shunfunyunnunhrutng Uhhwdwuyunnwujuwbn pjwi
2z huyntp huyntp
hwiwpnn tjupugpnypath
/huduyunuuiwine /shudwyuinuujuwiibne
nhupnud ok “X7/ nhupnud ok “X7/
1 «MEwnpnuywb Znjnhugy UNC X - -
2 «Upuku Qupupjui Fughlh» % ) )
Uwutwlhgutph Cuunpyws dwutulhg Uwubiwuljgh wnwowplyws ght
qpunbgpwd nknbpp Uuututygh witrjwnup /punpyws dwubwlgh hudwp ok X7/ funutig UZZ/
1 «MbEwnpnujub Znjnhug» UNC X 8,333
2 «Upukt Qupupjut Fughlh» U/2 9,800

Cownpyud dwubwlghlt npnolnt hwdwp Yhpunqws swihwihy  hpwybph wwhwietbphtt hwlwwwnwupwing  hupn,
uwjuqugny quughtt wnwewply ukpjuyugpus dwubwlghtt hwpiwwywnynipeinit muynt uljqpniip:

Quithwpwdhi N: 28 Fudwl wrwpluw k hwinhuwinud® Ununph gnpghljukp 1

Zpunjtiph wwhwhgukpht | Zpunbph wwhwigukphu
Uunutuljgh wijuimulp hunfwyunnuufuwtng shunfurujunnumjuuiting Uhwiwuyunnwuiwbn pjui
2z, huyuntp huynkp
hwiwpnwn tjuwpugpnypaih
/huduyunwuiwine /shudwyuwinuujuwiibng
nliypnud tipky “X”/ liypnud biply “X”/
1 «Upuku Qupupjui Fwughlh» X i )
2 «Yuhpe Zngyhwhthujw X ) )
znjhwttbu» U/Q
Uwutiuyhgitph Cunpjud dwubuljhg Uwutiuljgh wnwewplwsé ghtu
qpungpwd nknkpp Uulrurgh winuitmulp /punpyus vwubwlgh hudwp ok X7/ funwtg UZ2/
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1 «Upuku Qupupjut Fughlhh» U/ X 39.000
«Yuhp Znyhwthuywb
2 Znyhwtbu» U/2 40,000

Ctunpyud dwubwlghlt npnolnt hwdwp Yhpunjws sunhwihy hpwybph wwhwiebkpht hwlwwwnwujwing  hupn,
ujuqugnyb quughtt wnwewply ukpuyugpus vwubwlghtt twhiwwywwnynipnit muynt uljqpniip:

Qwithwpwdh N: 29 Qudwt wnwplu Ehwiinhuwbnd® Znnil] o&wn dknph 1

Zpunjtiph wwhwbgubpht | 2puftph wuwhwgubkpht
22 Uwutulgh wijwtmdp B | D | Uthudwyunuujuw b pyui
hupnkp huyinkp hwdwrnn tjupugpnypnt
/hudwyuinuuiuiibnt /shudwyuinuujuwiibing
nhiypnud tply “X7/ nhiypnud gk “X”/
«MEwnpnuyub Zninhug» UNC X - -
2 «Upuku Qupupyut Sughlp» X i i
U/2
Uwtiljhgubph Cunpjud wubuljhg Uwubulgh wnwgwpljué ghtu
qpunkgpwd nknkpp Uuniburligh winjuibnup /punpyws vwubwlgh hudwp ok X7/ /unwhg U2/
1 «MbEwnpnuywut Znjinhug» UNC X 93,750
9 «Upudku Qulpggmh Qughlh» 111,000

Cunpjwd Uwutwlghtt npnplint hwdwp Yhpwnjws swhwihy  hpudbph wwhwbghbphtt hwdwyuwnwupiwing  hwgn,
ujuqugnyt guughtt wpwewpl ukpjuyugpus dwubuljghtt itwppwywnynipini tnwnt uljqpnip:

Qunpwpwdhn N: 30 Fudwl wnwplw k hwinhuwinud® Uwinmnp

Z2puiftiph wwhwhgubkpht | Zpunbph wwhwlgubkphu
Uuutuljgh winjwtmudp hunfurgunnrwling shunfunyunnurhrating Uthufwuyunuupiuting pjuic
4z huyyinkp huyyinkp hunlfwenn tlju i}
ugpnijpent
/hudwyjuinwuiwuibne /shundwyuinuujuwibng
nhypnud gk “X”/ nhiupnud ok “X”/
1 «Upuku Qupupjui Fwughlh» X - -
2 «<Yudhp Znghwbthuyjw X i i
znjhwtbu» U/Q
Uwwutiuljhgtiph Cunpjwd dwubuljhg Unniirligh wnwgwplyus ghtt
qpuintgpuid nknkpp Uuiulgh winjuitnufp /ptnnpws dwubligh hutwp ol X7/ fupuhg U22/
1 «Unpukt Qupupjut @ughljh» U/Q X 31,600
«Ywyhp Znhwtthuwi
2 an.lhuﬂlhhu» Uu/2 36,000

ChinpJws dwubmlghtt npnoknt hwdwp Yhpungws suhwbhy hpufbph wuwhwbetbphtt hwdwyuinwumbng  huyn,
wjuqugny quughtt wnwewply ukpjuyugpus dwubwlghtt hwpiwwywnynipntt munt uljqpniip:

Qunhwpwdhi N: 31 Fudwh wpwplu E hwiinhuwind® Onputly

Zpunjtiph wwhwhgukpht | Zpunbph wwhwigukphu
22 Uuutiuljgh winjwtmdp hunfurgunnunprotbng shunfunyunnumuhnubng Uthudwwywinuupiuting pjuic
huyynkp huyinkp hudwrnun tjupugpnypnih
/hudwyyuinwuiuint /shundwyuinuujuwibng
nhupnud ok “X7/ nhupnud ok “X7/

«MbEwnpnuyul Znnhugr UNC X - -

2 «RULUPU» UL X - -
3 «Upuku Qupupjui Fwghyh» X i )

U/
Uwutulhgukph Cuunpjus dwutwlhg Uuubwljgh wnwgwpljws ght
qpuntgpwd whnkpp Uuuturgh witnjwbnuip /plinpyus dwubwygh hwidwp by X7/ /wnwtg UZ2/

1 «MbEwnpnujut Znjinhug» UNC X 40,000

2 «fUrurU» U 40,500

3 «Updukt Qupupjui Fwughlh» U/2 94,000

Ctunpyud dwubwlghlt npnolnt hwdwp Yhpunjws sunhwihy hpwybph wwhwiebpht hwlwwwnwupwing  huypn,
ujuqugny quwghtt wnwewply ukpuyugpus vwubwlght hwpiwwywnynipnit munt uljqpniip:
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Qunpwpwdhi N: 32 Fudwl wpwpluw | hwinhuwinud® Pwh thopbm

Zpunjtph wwhwhgubpht | Zpunjtph wwhwhghbkpht
Uuutiuljgh winjutmudp hunfurgunnunprobng shunfunyunnumuhnubng Uthudwwywinuuputing pjui
4z huyntp huynkp o
wlwpnn Gjupugpnypath
/hudwyuinwuiwbnu /shundwyuinuujuwibng
nhupnud gk “X”/ nhupnud gk “X”/
1 «Upuku Qupuipjui Fughljh» X i )
u/2
9 «<YuJhp Znghwbthuywh X i i
ZnJhwttu U/2
Uwwubiubhgiikph Cunpjud vwubuljhg Uwutiuljgh wnwgwplus ghte
qpunkgpwd nknkpp Uuiulgh winjuibnufp /punpyws vwubwlgh hudwp ok X7/ /unwug U2/
1 «Updkt Qupupjui Fughlh» U/2 X 30,000
«YuJhp Znghwbthuywb
2 Znihulibu U/2 120,000

Cunpjwd Uwutwlghtt npnplint hudwp Yhpwndus swhwihy hpudbph wwhwbghbpht hwdwyuwnwupiwing  hwjn,
ujuqugnyt guwghtt wpwewpl ukpjuyugpus dwubuljghtt itwppwywnynipni tnwnt uljqpnip:

Quihwpwdh N: 33 Fudwl wrwpluw khwinhuwinud® Muundwuk nny) pundhsn] U inquialyngd

Z2puiftiph wwhwhgubkpht | Zpubph wwhwugubkphu
2 Uuwutwlgh wiquimup hunfwngunmnhubng shunfurajunnunhratinn Uhhwdwuyunnwupiwbn pjui
huyynkp huynkp hwiwpnn tjupugpnypath
/hudwyuinwuiwbnt /shurdwyuinuujuwiibne
nhypnud gk “X”/ nhiypnud tipky “X”/
1 «<rudhp Znghwbthuyjut X i i
Znyhwhttu» U/2
2 «MEwnpnuyub Zninhug UNC X - -
3 «Upuku Qupupjui Fughyh» % i )
u/2
Uwwutiuljhgtiph Cunpjud dwubuljhg Uwutiuljgh wnwgwplwsé ght
qpuintgpuid nknkpp Uuiulgh winjuitnufp /ptnnpuws dwutaligh hutwp ol X7/ fumuhg U22/
«Yuyhpe Znyhwtthuywt
! znJhwuitu» U/2 X 22,000
2 «MbEwnpnujut Znjnhug» UNC 30,000
3 «Unpukt Qupupjut Sughljh» U/Q 48,000

Cunpjwd Uwutwlght npnplymt hwdwp Yhpwndus swhwihy  hpudbph wwhwbghbphtt hwdwywnwupiwing  hwgyn,

juqugnyb quuyhtt wnwewply ukpuyugpus dwubwlghtt twhwwywnynipnit imwnt uljqpniip:

Qunpwpwdhi N: 34 QGudwl wnwplw k hwinhuwinud® Ubkniups dugundti

Zpuftiph wwhwhgbkpht | Zpunbph wwhwlgubkphtu
Uuutuljgh wijubmulp hunfwyunnuufuwtng shunfurujunnumjuuiting Uthwdwuyunwuiwbn pjui
2z, huyuntp huynkp
hwiwpnwn tjuwpugpnypath
/huduyunwuiwine /shudwyuinuujuwibne
liypnud tipky “X”/ lypnud biply “X”/
1 «Upuku Qupupjui Fwughlh» < i )
U/
Uuwhhgukph Cinpywd dwulnulhg Uwutwlgh wnwgwplus ghte
q_[!lllllhgpulb u’lhl]h]l]’_l Uuluhuﬂlgb uﬂn[uﬂmuf]} /pnpdus dwutiwlgh hwdwnp bty “X*/ /umulhg uzz/
1 «Upuku Qupupjui Fughlh» U/Q X 4,800

Ctunpyud dwubwlghlt npnolnt hwdwp Yhpunjws sunhwihy hpwybph wwhwiebpht hwlwwwnwuwing  hupn,
ujuqugny quwghtt wnwewply ukpuyugpus vwubwlght hwpiwwywnynipnit munt uljqpniip:
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«Qunulubph dwuht» 22 opkuph 10-pp hnpjwsh hwdwduwyh' wignpsnmipjut dwudljbn b vwhdwiyod unyl

hwjnwpwpnipmniiin hpuwwpwlytnt opduit hwenpnnn opdwihg vhigh 5-pr opwugnigwyhi opp (2019p. hnljnbkdpkph 26-hg
30-p) bbhpunyjuy pujws dudwitwlwhwndwsdp:

Unyu hwjnnwpupnipjut hbn juydws jpugnighs nknkynipmnittbp uvinwbwnt hwdwp upnn Ep nhub
«@ZUML-ZduUY-2019-51» swsljugnny guwhwwnnn hwtdtwdnnnyh pupunniqup Ywhwt Uwintjuihi:

Zkpwfunu 010 55 06 01

Eikynnpubaght thnun' £y, shnun  vahan. manukyan@ncdc.am, procurement@ncdc.am
NMuwwuyppuwnnt’ UL «hjuinnipnibubph Jepuwhuljdui b jutjuupgljdu wgquyht YEunpnts 10UY
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